Step 150% of rheobase: RMP -

Step 150% of rheobase: Voltage value after stim -

Step 150% of rheobase: Mean AP amplitude -

Step 150% of rheobase: Last AP amplitude -

Step 150% of rheobase: Mean AHP depth relative to RMP -
Step 150% of rheobase: Mean firing frequency -

Step 150% of rheobase: Inverse of 1st AP time from stim start -
Step 150% of rheobase: Inverse of last AP time from stim start -
Step 150% of rheobase: Inverse of 1st IS| -

Step 150% of rheobase: Inverse of 2nd ISI -

Step 150% of rheobase: Inverse of 3rd ISl -

Step 150% of rheobase: Inverse of 4th IS| -

Step 150% of rheobase: Inverse of 5th ISI -

Step 200% of rheobase: RMP -

Step 200% of rheobase: Voltage value after stim -

Step 200% of rheobase: Mean AP amplitude -

Step 200% of rheobase: Last AP amplitude -

Step 200% of rheobase: Mean AHP depth relative to RMP -

Step 200% of rheobase: Mean firing frequency -

Step 200% of rheobase: Inverse of 1st AP time from stim start -
Step 200% of rheobase: Inverse of last AP time from stim start -
Step 200% of rheobase: Inverse of 1st ISI -

Step 200% of rheobase: Inverse of 2nd ISI -

Step 200% of rheobase: Inverse of 3rd ISI -

Step 200% of rheobase: Inverse of 4th ISI -

Step 200% of rheobase: Inverse of 5th IS -

Step 280% of rheobase: RMP -

Step 280% of rheobase: Voltage value after stim -

Step 280% of rheobase: Mean AP amplitude -

Step 280% of rheobase: Last AP amplitude -

Step 280% of rheobase: Mean AHP depth relative to RMP -

Step 280% of rheobase: Mean firing frequency -

Step 280% of rheobase: Inverse of 1st AP time from stim start -
Step 280% of rheobase: Inverse of last AP time from stim start -
Step 280% of rheobase: Inverse of 1st IS| -

Step 280% of rheobase: Inverse of 2nd ISI -

Step 280% of rheobase: Inverse of 3rd ISI -

Step 280% of rheobase: Inverse of 4th IS| -

Step 280% of rheobase: Inverse of 5th ISI -

Holding current for -80 mV RMP -

Rheobase -
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